LABJNDu4 standard lightnessL*

L* YocsL*w - nc=100,

L* | aBanDua=[IN[(A 17+A2)I(A 2nA0n)] (Yno/ 100<Y<=Y,0)
L* \(3.6)=146 L* ,(18)=332,L*,,(90)=517

| ool 7120 033

LABJINDu4
tristimulus value difference

Yoc=L* w nc=100,
L* LaBanDua=[IN[(A 1r+A2a)I(A 2nA0n)] (Yad/ 100<Y<=Y,0)
dY=Agn(A1+AY)  Ag=0,017, A4,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019
>
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L* =332 dY,=0,16 dY,/Y,=0,0092 -
iy Rl e A
log(dY)=0,16 m,=0,93
application’
range
'y,=18
Yy =90

Yn=3.6

log (AY/Y) LABJINDu4
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A1 Az Y

| PYAYIVE208 P -~ - ¢ - - application

L*,=332 dY,=0,16 dY,/Y,=0,0092 "ange
1

1
1Y,=18
Yy=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJNDu4

tristimulus value contrast
Yo=L*w - 6 :ne=100,

L* Laganpua=[N[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
YIAY=Y/[Agn(A1ntA2nY)]

L*,=332 dY,=0,16 Y,/dY,=107

log(Y/dY)=2,03 m,=0.,Z = -
application
range

1 Yyy=90

LABJINDu4 relative standard lightnessL*/L*

L*/L* u YocmL*w nc=100,

L* | aBanDua=[IN[(A 15+ A2 )I/(A 2pA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=146L* ,(18)=332,L*,,(90)=517

loglLr/Lx,
L*,~49,L* ;=332

TINE86 T Yg=90

LABJNDuA4 relative
tristimulus value difference

Yne=L*w ne=100,
L* L aanpua=[IN[(A 10+ A2n)I(A 2nA0n)] (Yn/100<Y<=Y,0)
dY/dY =AgnlA 1ntAYI/dY,

log(A Y/AY W)
AYIAY,

a;plicatijn-
1 range
1y,=18
Yw=90

Y236
log [(AY/Y) I (AYIY)] LABJINDu4 relative
tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

L* L aBanDua=[IN[(A 10+ A2 I(A 2nA0n)] (Yne/100<Y<=Y,0)
@YIYYAYY,=(AgitAg Y)Y (AYIYY]

Iog[(leY)l(dY/Y)_'] 0, mu——O 06 o
L*,=332 dY,=0,16 dY,/¥,=0,009, Apeication
1y,=18
=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDu4 relative
tistimulus value contrast

CrlCr=(YIRVIYIAY)y . 21w, ” 2 2100,

L* L aanDua=[IN[(A 1n+A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),

Iog[(Y/de(YldYL] -0, mZ006
=332 dY,=

. w—
" application
1 range
1y,=18

Yw=90

YN=3.6




